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TYPES OF QUESTIONS

2 COMPARISION BASED QUESTION. :

2. FIND RANK OF PERSON.

3. FIND MID NUMBER.

4. POSITION INTERCHANGE.

5. FIND RANK OF PERSON WHO SEATS
EXACTLY BETWEEN TWO PERSON.

6. MISCELLANEOUS QUESTION.
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Q. M,N,O,P,Q &Tare having different weight. P is
heavier than only 2 person. Q is the person heavier
than T and lighter than P. O is less than only N in
weight. The 3@ heaviest weight is 100 kg and 5™
heaviest weight is 60 kg.

i FT 7R oA 1 P Fhadel 2 afFa @ #A Y &
QTA PAgehlgl OTaA HFdaT N A FH &
drE’T §9a gateT 100 Torall & 33 5a1 Gad Y ot
60 fhelr 87

Q. what is possible weight of P?
a) 60
b) 100
c) 105
d) 75







Six books — English, HindiScience, Computer,
Math, and Sanskrit each contains different number
of pages. Computer book contains fewer pages
than only two books. English book contains more
pages than Science book but less than Sanskrit
book. Science book does not contain least pages.
Sanskrit book contains fewer pages than Hindi
book. The book which contain third lowest pages
contain 28 pages

How many book(s) contain more pages
than Science book?
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Six books — English, Hindi, Science,
Computer, Maths, and Sanskrit each
contains different number of pages.

Computer book contains fewer pages

than only two books. English book
contains more pages than Science
book but less than Sanskrit book.
Science book does not contain least
pages. Sanskrit book contains fewer
pages than Hindi book. The book
which contain third lowest pages
contain 28 pages



Among A, B, C, D and E , each of them is
different weight_D’s weight is more than only
three persons. B’s weight is more than E and
less than C. A is not the lightest person. C is not
lighter than D. A is heavier than B. Who among
them is the third heaviest?

A, B, C, D 3R E & A YA T dolel 3Teldl-37eldT
&1 D &7 aoieT hadl died cIfaaar & 31 g1 B &r
dolel E A A8 3R C A FA g | A G godhl
AfFd A8 g1 C,D A gohl Aai ol A, B & HIY &
3H J AT 90 HRY i 872

(a) B
(b) D
(c) E
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Q .Who is the youngest? (i) Aarti is older than Sanya.

a) Kashish (i) Muskan is elder than Aarti but
b) Aarti younger than Kashish.

c) Muskan o, e

i} Sanva (iif) Kashish is elder than Sanya.

(iv) Sanya is younger than Muskan.
(v) Gargi is the eldest.
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Mix Quetion
Q. Inarow Ais 13" from the left B IS
19 from the right , How many
minimum students can be sit in this
row.
Th UFd HATUH 13aTg BT H
1941 &, 58 d4fea & Rrae =geia# o
deTFIE

a)20 b) 18 @)/d) 21 e) cnd
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Find Mid No. (Nonmal Case)

Q. %M‘: 5-1 80'} .
X . = (9 | e
L:y
YR h+='<’?'




(= 47
Xj\: l"
\/K= 12
™id = ?

™Mid= (T- (R+L\>
= 43-32
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